Math 7-10

Graph Reading

Use a ruler and pencil to answer the questions.

1.

2.

Name:

a) Find the Northern Ontario temperature in June:

b) Find the Southern Ontario temperature in mid-October:

Trend of Ozone Monthly Means in Southern and Northern Ontario
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a) Find the value of a car with mileage 50000:
b) Find the mileage on a car worth $11000
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3. Find the water consumption for 1988:

Domestic water use in Devon & cornwall
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4. a) Find the temperature  Altitude vs Temperature (Celsius)
at an altitude of 25000 ft.
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5. a) Find the number of students enrolled in Science & Engineering in 1992:

b) Inwhat year was the number of Engineering students greatest?

No. of Students in Science and Engineering

Mumber of Students

6. Find the

% infestation after 3

weeks:
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Change in Acorn Weevil Infestation Rate Over Time

% Infested Acorns
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/. a) Find the pressure when the temperature

Pressure vs Temperature

is 25 degrees:
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b) Find the pressure when the temperature
is 60 degrees:

c¢) Find the temperature when the pressure
is 350 mm:
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Accurate measurements are important.

Each square on the temperature axis needs to
be divided into 5 equal segments
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8. Find the price T .
(i English Pounds) of . Wine: Depth of Bottle Dimple vs Cost
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9. a) Find the CO2 concentration in the year 2006:

b) In what year will the temperature change be +1 degree above normal?

Rising CO: and temperature levels
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